Pac4yeT Beca onpaBneHHbIX
KaMHeW



B mnpaktuke reMmMoOIOrOB CBA3AHHBIX C OLCHKOW KOBEJIUPHBIX H3ACIHI
HEPEAKO BO3SHUKACT CUTYALMs, KOTAAa HEOOXOAUMO OLCHUTH MACCY BCTABJIICHHOTO B
OMPaBy KaMHs, HEC pacKpemysisa ero. ECTh U apyras mpakTHUecKas 3a1a4a, KoTopas
pEIIACTCA TaKUM »JKE€ MyTEM. OJTO, HAOpPUMEpP, KOrAa €CTh NOTPEOHOCTH
NEPEOTPAHKH KAMHSA 1O TOW WM MHOM NPHYMHE. CACIATh COBPEMEHHYH), 00Jce
KA4YCCTBCHHYO OTPAHKY, JJIs1 YCTPAHCHHS TOTO HJIM MHOTO CEPBE3HOro Ac(ekra Ha
IMOBEPXHOCTH KAMHA, OIPAHKA PACKOJOTOr0 KaMHA W T.II. JUId 3THUX LEJeH
FEMMOJIOTAMH SMIIMPUYCCKUM MyTEM OBLIA PA3padOTAHBI PA3TUUHBIC METOIUKH,
MO3BOJIIFOIUE OTHOCUTEIBHO YAOBICTBOPUTEIBHO BBIUUCIIITh BEC 3AKPEIIJICHHOTO

B OIPABE KaMH MO PE3yIbTaTaM €ro TIATEILHOTO 0OMepa.

Buumanue!!! It MeTOAHKH HeEJb3fl HCMOJIB30BATH AJA HAXOKIACHHUSA
Beca HeomnmpaBJ/ieHHbIX KamHei! /[J1f OleHKH Beca OrpaHeHHOro KaMHsl B

onpaBe OH Mpex/ae 10JKeH ObITb HAeHTU(PUUHpoBaH!



METOLOWKA PACYETA BECA OlPABJIEHHbLIX KAMHEN

» Bec HeonpaBneHHbIX BENUPHLIX KAMHEW HaXoaUTCA TOMNbKO NyTeEM
HenocpeacTBEHHOIO B3BELUMBAHUS. OTO OOBACHAETCS TEM, YTO
NOrpeLwwHoOCTb pacvYeTHOro Mmetoaa, aAaxe npu BecbMa Tl aTeSibHbIX
3amepax, coctaenset okosio 10-15%! Hem cunbHee HapyLleHbl nponopuum
KaMHS, YeM OH JedekTHeun, Tem bonbLue owndbka pacyeTHoro metoga. Yto
Obl 3TO Ny4ywe NOHATb, HAYMHAKLWMM reMMosioram U CTyaeHTamM MOXKHO
NOpEeKoOMeHO0BAaTb NOYNPaXXHATLCA B OLEHKE BECA OrPaHEHHbIX
HeonpaBneHHbIX KaMHEW MO pe3yrnbrataMm obmepa, cpaBHUBasi NOSTyYEHHbIE
pesynsraTtbl C pesyrnsrataMn NPAMoro B3BeLLUNBaAHUS.

« Bce meToamkun pacyeTta Beca onpaBneHHbIX KamHen 6asmpytoTca Ha
pesynsratax N3MepeHnsa NMMHENHbIX pa3MepPoB KaMHS: ASNHbI, LUMPUHbI U
BbICOTbI. [1Na namepeHnst AnnHbl N LWMPUHBI KAMHA BO3MOXHO
NCMNOSIb30BaHME PasfNYHbIX UBMEPUTENBHbLIX MHCTPYMEHTOB 4OCTAaTOYHOM
TOYHOCTMN.

e U3amepeHna npomn3BoOATCA C TOYHOCTbLIO O BTOPOro
3HakKa nocne 3ansatou!




LUTaHreHUMpKynNb MeTannnM4yeckum
(0-100 MM, TouHOCTb 0,02 MM)

LLTaHreHUMpPKYnb C KPYroBon LmMcpoBon
wkanon. Npeagen nameperHus 0-150 mm,
TOYHOCTb UamepeHunsa 0,1 Mm

LUTaHreHUMpKyIb 9NEKTPOHHbIN.

EonHUUbI nsmMepeHusi: MM, OIOWUMbI.

1 atonm = 25,4 mm. [INCKPETHOCTb OTCYETA:
0,01 mm. dnanasoH nameperna: 170x60x15 mm

Kpyroson nameputens JleBepuaxa nossonsaet
N3MepATb Jaxe 3aKpensieHHble KaMHU B
OTKpbITOM onpase ¢ TodHOoCTbo 40 0,01 MMm.

mmiach

N3meputens kamHen
Mpenen namepenust 0-20 mm,
TOYHOCTb namepenms 0,1 mm

N3mepuTensb anekTpoHHbI A-Source. MWHW-U3MepUTEND INEKTPOHHbIN
Lindpposon nameputens, obecneymsatroLmi Mpenenbl namepexus 0-15 mm,
TouHocTb 0,01 MMm. To4HOCTb M3mepenus 0,01 mm



MeToanka namepeHuns FBENUPHOM BCTABKM B U3AENUKX NMPU MOMOLLY KPYrOBOrO
nameputens Jleeepnmoka nnm apyrux nogoodHbIX NHCTPYMEHTOB




PACHET BECA AJIMASA

[1ns akcnpecc oueHKN Menknx 6punnuaHToB (melee — Tak HasblBatoT
OrpaHeHHbIE KaMHM OAHHOIO Kracca KpynHOCTU) CyLLECTBYHOT cneunanbHble
Tabnnubl 3aBMCMMOCTN MacCbl KAMHS OT €ro oopMbl U pa3mMepoB (CM.
Tabn. 1 n Tabn. 2). Takne kKaMHM YacTo Ha3bIBalOT Kacm rnase — KaMHU
YOEPXNBAKOTCS B MaNeHbKNX OTBEPCTUSX, MPOCBEPSIEHHBIX HA NOBEPXHOCTHU
konbua. Takon TMN KacTa NpUMEHSIETCA ANs 3aKpensieHns 6punnnaHToB
HebonbLUOro pasmepa.

AMNUPUYECKNM NYTEM HanaeHbl BECa MENKNX BPUNNnMaHToB Kpyrnom
dopmbl (mealy) pasgenbHO Ans nonHon — 57 rpaden (tabn. 1) u npocton —
17 rpanen (Tabn. 2) orpaHku. [lnametp GpunnuaHTa npuHMMaeTcsa Kak
cpeoHe apugpmemu4deckoe Mmexay AByMs 3aMmepamMu BO B3aUMHO
nepneHanKynspHbIX HanpaBneHnsx NtodbiM AOCTYNHLIM MHCTPYMEHTOM
OOCTaTOYHOM TOYHOCTU. BO3MOXXHOCTM U TOYHOCTb U3MEPEHUA KaMHS
CUITbHO 3aBUCAT OT cnocoba 3akpernkn KamMHs B ornpase: Npu rryxon
3aKperke TOMHOCTb 3aMepoB OyaeT HM3Kas.




Tabnuuya 1 Tabnmua 2

OrpaHka 6punnuaHToBas kpyrnas 57 rpaHen
OrpaHka npocTtas kpyrnas 17 rpaHeu

JmameTp, MM Bec, xapar

13 0.01 Jluamerp, Mm Bec, kapat
1.7 0.02

1.8 0.02 1.0 00>
1.9 0.02 1.1 0.005
2.0 0.03

2.1 0.03 1.2 0.005
22 0.04 1.3 0.010
23 0.04 1.4 0.010
2.4 0.05

25 o5 1.5 0.015
2.6 0.06

%7 0.07 1.6 0.015
2.8 0.08

29 0.09 Ll 0200
3.0 0.10

31 0.11 L5 G0l
32 0.125 1.9 0.030
33 0.14

3.4 0.15 2.0 0035
35 0.16

36 0.17

37 0.18

3.8 0.20




Pac4éTt Beca 3aKkpensiEHHbIX OrpaHEHHbIX KaMHEN nNpon3BoanTcst No
n3BecTHbIM popmynam (Tabn. 3) c npMMeHeHNnEM NONpPaBOYHbIX

KOO (PULMEHTOB, BbIBEAEHHbLIX AMMNUPUYECKNUM MYTEM OIS KaXXAoro tmna
orpaHku. PekomeHayeTcsa NOTPEHMPOBATLCA C HEONPAaBNEHHbLIMU
GpunnmaHTamMmm pasnmyHon opmbl U NUYHO YyoeauTbcst B 3(pdEKTUBHOCTH
nonpaBoOYHbIX KOAMPULMNEHTOB NPM pacyeTe UX Beca No peayrnbratam
TwaTtenoHoro obmepa. BoaMoXxHo, YTo Bbl npeanoXxute Kakme-to CBou
YTOUYHEHHbIE nonpasku. B ntobom cnyyvae ato 6yaet nonesHo, XoTs Obl yxe
TONbKO A1 OCO3HAHUSA HACKOJSIbKO pa3Hble BeCa OrpaHEHHOro KaMHs
nofy4YyarTcs NyTeM NPSAMOro B3BELLMBAHMA U pacyeTa no pesynsraram
obmepa. J1lobble OTKNOHEHMA B MPONOPLUMAX KAMHSI HEMPEMEHHO OTPa3ATCS
Ha pesyribTaTax pacdeTa ero Beca. [103ToMy NbITaNTECh NOHATb NPUYNHY
pacxoXxaeHna pe3ynsTatoB pacHeTHOro MeToda v nNpPsiMoro B3BeLLIMBaHuUS.



Tabnuua 3

PacuyeT Beca orpaHeHHbIX OpMNMaHToB pasnn4yHou popmbl

@opma orpaHKH PacueTtnas opmyrna

Kpyras Pp=Dcp” *C *0,0061 * k ;@

OpWUTHAHTOBAS

OBasbHas Pp=A*B*C*0,0062*k @

Cep/mieBuaHas Pp=A*B*C*0,0059*k @___
Pp=A*B*C*0,0057*Fk @

Tpeyromuas Pp=A*B *C *0,00915% |

bBarer Pp=A*B*C*0,00915%

"TpaneiueBUAHbIH _—.l

Garer Pp=A*B*C*y*k E

WMzympynHas 8 e
Pp=A*B*C*y*k

Mapxws V
Pp=A*B*C*y*k =

Kamepuanasa w)




[loumeyaHue 1: Pp - pacdeTHbIU Bec, Dcp - cpegHun auametp, A, B, C -
ONVHa, WMpUHA U BbICOTa, K - NOMpaBOYHbIN KOIPUUNEHT YyYNTbIBaKOLLNN
TONWMHY pyHONCTA, KOTOPYIO Takke HeobXoaMmMo oueHUTb. [nga aToro
PYHOUCT OCMaTpmuBaEeTCA HEBOOPYKEHHbIM rf1a30oM Mo BCeEMY NepPUMETPY
KaMHs. HopMasibHbIU pyHAWUCT AOMKEH HabngaTbCs B BUAE O4YEHb TOHKOM
OTYETNMBOW JINHUN (rPaHN KOPOHLI N NaBUNbOHA He OOMKHbI CXOAUTLCS).
Crniecka mosicmblil PYHOUCT BUOEH B BUOE YTOMNWEHHOW NUHUN, a
mosicmbIU - B BUOE OTYETINBON NONOCKN. IKCcmpemMasibHO mosicmbiu
PYHAOWCT npeacTaBneH WUpokou nonocou. [onpaBovHble KOIPPUUNEHTHI K
TOSLUMHE pyHOMUCTaA B 3aBUCMMOCTW OT AMaMeTpa KaMHS npuBeeHbl B
Tabn. 4. Ecnu TonwuHa pyHAUCTa CUNbHO BapbUPYET, TO NPUHNMaETCH
ycpegHeHHoe 3HayvyeHune. bornee 3HauuTenbHbIe OTKIOHEHUA MOXET AaTb
BOSTHUCTLIN PYHOUCT.

[Ona kamHen gnametpom bornblue, YeM NpMBEAEHHLIE 3HAYEHME B Tabnuue,
bepéeéTca nonpaska Anga pasmepa 8.25 mm.

[lpumeyaHue 2: KOIPPUUMEHT y AN KaMmHen B oopMe MapKums,
N3YyMPYOHOW N KanneBuUaHOM OrpaHkmM 3aBUCUT OT OTHOLLEHUA ONUHbI K
LUMPUHE KaMHS.



OueHka TonwmMHbl pyHaucTa

Extremely thin

W
Very thin

Extremely thick

OKCTpEMASIbHO TOHKUI
O4yeHb TOHKNI

TOHKMA

CpegHun

Cnerka ToncTbIN
ToncTbin

OuyeHb TOoNnCTbIN

OKCTPEMASIbHO TOSICTbIN



PacueT Beca onpaBreHHbIX ariMa3oB

LENGTH-TO-WIDTH RATIO

To estimate the weight of an emerald cut, marquise, or pear, first
calculate its length-to-width ratio by dividing length by width.

Example: If length = 9.23 mm, and width = 6.35 mm, then

Length-to-Width Ratio = (9.23 + 6.3):]
= 1.4535:1, rounded to 1.45:1

(Note: Round the length-to-width ratio to the nearest hundredth.)

Estimated Weight = length x width x depth x adjustment factor x weight correction
Adjustment Factors for Emerald Cuts:

Length-to-Width Ratio Adjustment Factor
1.00:1 0.0080
1.50:1 0.0092
2.00:1 0.0100
2.50:1 0.0106 /A



MARQUISE BRILLIANT

Estimated Weight = length x width x depth x adjustment factor x weight correction
Adjustment Factors for Marquises:
Length-to-Width Ratio Adjustment Factor

1.50:1 0.00565
2.00:1 0.00580
2.50:1 0.00585
3.00:1 0.00585

PEAR-SHAPE BRILLIANT

Estimated Weight = length x width x depth x adjustment factor x weight correction
Adjustment Factors for Pears:
Length-to-Width Ratio Adjustment Factor

1.25:1 0.00615
1.50:1 0.00600
1.66:1 0.00590
2.00:1 0.00575

NOTE: If necessary interpolate between adjustment factors.



GIRDLE THICKNESS PERCENTAGE CHART

Use this chart to arrive at the approximate contribution the girdle thickness makes to the total
depth percentage. Like other proportions, these values are percentages of the average girdle
diameter. For smaller stones, use the values given for 3.80 mm; for larger stones, use the val-
ues for 8.25 mm.

Dia-
meter

3.80
3.85
3.90
3.95
4.00
4.05
4.10
4.15
4.20
4.25
4.30
4.35
4.40
4.45
4.50
4.55
4.60
4.65
4.70
4.75
4.80
4.85
4.90
4.95
5.00
5.06
5.10
5.15
5.20
5.25
5.30
5.35
5.40
5.45
5.50
5.55
5.60
5.65
5.70
5.7
5.80
5.85
5.90
5.95
6.00

Thin-
Medium

4%
4%
4%
4%,
4%
4%
4%
4%
4%
4%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%

S;ighrly Thick Very Extremely

ick Thick Thick
5% 6% 9% 11%
5% 6% 9% 10%
5% 6% 8% 10%
5% 6% 8% 10%
5% 6% 8% 10%
5% 6% 8% 10%
5% 6% 8% 10%
5% 6% 8% 10%
5% 5% 8% 10%
5% 5% 8% 9%
5% 5% 8% 9%
5% 5% 8% 9%
5% 5% 8% 9%
4% 5% 7% 9%
4% 5% 7% 9%
4% 5% 7% 9%
4% 5% 7% 9%
4% 5% 7% 9%
4% 5% 7% 9%
4% 5% 7% 8%
4% 5% 7% 8%
4% 5% 7% 8%
4% 5% 7% 8%
4% 5% 7% 8%
4% 5% 7% 8%
4% 5% 7% 8%
4% 5% 6% 8%
4% 4% 6% 8%
4% 4% 6% 8%
4% 4% 6% 8%
4% 4% 6% 8%
4% 4% 6% 7%
4% 4% 6% 7%
4% 4% 6% 7%
4% 4% 6% 7%
4% 4% 6% 7%
4% 4% 6% 7%
4% 4% 6% 7%
4% 4% 6% 7%
3% 4% 6% 7%
3% 4% 6% 7%
3% 4% 6% 7%
3% 4% 6% 7%
3% 4% 6% 7%
3% 4% 6% 7%

NOTE: On fancy shapes use width measurement.

Dia-

6.05
6.10
6.15
6.20
6.25
6.30
6.35
6.40
6.45
6.50
6.55
6.60
6.65
6.70
6.75
6.80
6.85
6.90
6.95
7.00
7.05
1.10
7.18
7.20
7.2
1.30
1.35
7.40
7.45
7.50
7.55
7.60
1.65
1.70
1.75
7.80
7.85
7.90
7.95
8.00
8.05
8.10
8.15
8.20
8.25

Thin-

2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%
2%

Shightly Thick
meter Medium Thick

3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
2%
2%
2%
2%
2%

4%
4%
4%
4%
4%
4%
4%
4%
4%
4%
4%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%
3%

Very Extremely

Thick  Thick
5% 7%
5% 7%
5% 7%
5% 6%
5% 6%
5% 6%
5% 6%
5% 6%
5% 6%
5% 6%
5% 6%
5% 6%
5% 6%
5% 6%
5% 6%
5% 6%
5% 6%
5% 6%
5% 6%
5% 6%
5% 6%
5% 6%
5% 6%
5% 6%
5% 6%
5% 5%
4% 5%
4% 5%
4% 5%
4% 5%
4% 5%
4% 5%
4% 5%
4% 5%
4% 5%
4% 5%

4% 5%

4% 5%

4% 5%

4% 5%

4% 5%

4% 5%

4% 5%

4% 5%

4% 5%

TonwwuHa pyHaucta B %



dopmynbl pacyeTa Beca LIBETHbIX OMNpPaBNeHHbIX KaMHEN

Round

average diameter? x depth x SG x .0018 x (weight correction factor)

diameter? x depth x SG x .0020 x (weight correction factor)
(average length and width for diameter)

Square Antique Cushion

average diameter? x depth x SG x .0018 x (weight correction factor)
(average comner and belly measurements for diameter)

(1N
NI
Oval m
U
A
-
1]

Rectangular Antique Cushion

diameter? x depth x SG x .0022 x (weight correction factor) L
(average length and width for diameter)

average width? x depth x SG x. 0023 x (weight correction factor)
(average both side-to-side measurements for width)

Rectangular Step [_
g

length x width x depth x SG x .0025 x (weight correction factor)

B
Square Step | (_ﬁ
.y

Square Cushion

average width? x depth x SG x .0024 x (weight correction factor)
(average both side-to-side measurements for width)




dopmynbl pacyeTa Beca LBETHbIX ONpaBreHHbIX KaMHEWN

Rectangular Cushion S .

length x width x depth x SG x .0026 x (weight correction factor) Y

Marquise @

length x width x depth x SG x .0017 x (weight correction factor)

Pear

length x width x depth x SG x .0018 x (weight correction factor)

Heart

length x width x depth x SG x .0021 x (weight correction factor)

Triangle

length x width x depth x SG x .0018 x (weight correction factor)



dopmyrnbl pacyeTa Beca LIBETHbIX ONpPaBNeHHbIX KaMHEN

WEIGHT CORRECTION FACTOR: You can make a closer calculation of a gem’s esti-
mated weight by taking cutting variations into account. (If no correction is necessary,
omit it from the formula.)

All cuts: If you think extra girdle thickness adds weight, this may require a correction
of up to 10%. (Except in extreme cases, do not judge girdle thickness at the cleft of a
heart, or at the point of a heart, pear, or marquise.)

A high or lumpy crown may require a correction of up to 10%.

Also, in extreme cases, an oversize (large or wide) culet justifies a small percentage
correction (up to 5%).

Step cuts: If crown or pavilion bulge adds weight, the correction may go as high
as 18%. Check the stone from the side and end. (On stones below 0.25 ct bulge is
generally extreme.)

A long culet in a step cut due to steep pavilion angles at the ends can add weight.
This might justify a small correction (up to 5%).

Square or rectangular step: Wide corners decrease weight and may require a nega-
tive percentage correction (up to -5%).

Oval, pear, marquise, heart: Wide wings or high shoulders (or both on a pear) may
require a correction of up to 10%. (Rarely, very straight wings may require a negative
percentage correction of up to -5%.)

Marquise (and sometimes pear): No keel line (or a very short one) requires a nega-
tive percentage correction (-3%).

Triangle: Straight sides may require a negative percentage correction (up to -10%).



MEASURING DEVICES
Pa3mepbl 1 BeC
6punNnNMaHToB

Screw micrometers are the most accurate
devices generally available to professional
jewelers for measuring loose stones; their
Jaws are too wide for measuring mounted
diamonds. The counter of this millimeter
screw micrometer reads to 0.0! millimeter,
the vernier scale on the handle allows you
to estimate thousandths (0.001).

PR
& CETIMATOR

L T

The Let eridge gauge Is a side micr ometer

which measures both loose and mounted
stones. The pointer on the dial shows
whole millimeters up to 10 and tenths of a
millimeter; experienced graders can ac-
curately estimate hundredths. The in
dicator on the left of the face shows
multiples of 10 millimeters.

The Moe gauge measures In unique units
called moes. Many professional jewelers
use them to estimate weights of round
diamonds, they do not work for fancy
shapes.



USING THE LEVERIDGE GAUGE

The Leveridge gauge (shown with high-

setting attachment) is one of the most ver-

satile measuring devices.

Pa3mepbl 1 BeC
bpunnmaHToB

Use the Leveridge gauge with a high-
setting attachment to measure the depths
of stones in open-back mountings.

To find the diameter of a prong-set stone,
measure between the prongs on opposite
sides.

To find the diameter of a bezel-set stone,
estimate where the bezel facets point up at
the girdle and measure across opposing
bezel facets.




Pa3mepbl 1 BeC BpUnnMaHToB

SMALL WEIGHTS -
Spoken Decimal Recorded
Eights 125 ct. 1/8
Tens 10 1/10
Thirty-threes .03 1/33
Fifties .02 1/50
Seventies .015 1/70
Hundreds .01 1/100
One twenty-fives .008 1/125
One fifties .007 1/150
Two hundreds .005 1/200

4
s

; : . ] 1t}
Ou can measure mounted meiee with a

table gauge



Pa3mepbl 1 BeC
6punnnaHToB

Anmasbl n
BONbLUMHCTBO APYrnx
IOBENUPHbIX KAMHEWN
N3MEPSIOTCA B
METPUYECKMX KapaTax
(0,2 r =200 mr).
1/100 kapaTta
Ha3blBAE€TCS MOWHT.

SIZE AND WEIGHT

Diamond and most other gem weights are expressed in metric carats. One metric carat
equals 0.200 grams (200 milligrams or 1/5 gram). A carat is divided into 100 equal units
called points. According to US Federal Trade Commission rulings, all weight repre-
sentations are subject to a 1/200 carat (one-half point) tolerance.

DIAMETER AND WEIGHT
Diameter Approximate Weight
4.10 mm ‘ 0.25 ct.
5.20 0.50
6.50 . 1,00
7.40 1.50
8.20 ‘ 2.00

WEIGHT RANGES

Fraction Average Weight Range

8/10 .90 - .95 ct.

7/8 .84 - .89

3/4 .70 - .83

5/8 .57 - .69

1/2 .47 - .56

3/8 .38 - .46

1/3 .30-.37

1/4 .23-.29

1/8 18- .22 This diamond sieve Is a metal cylinder

1/6 15-.17 which holds screens drilled with holes of

1/8 J2-.14 various sizes. Hole gauges are thin sheets

1/10 .09-.11 of plastic or metal drilled with holes cor-
responding to various diameters and
weights.




ESTIMATING MELEE WEIGHTS BY DIAMETER

FULL CUTS SINGLE CUTS
Diameter Approx. Weight

1.3 mm 0.0l ct.

1.7 0.02

1.8

1.9

2.0 0.03

2.1

2.2 0.04

2.3

2.4 0.05 Diameter Approx. Weight

2.5

2.6 0.06 1.0 mm 0.005 ct.

2.1 0.07 1.1

2.8 0.08 1.2

2.9 0.09 1.3 0.01

3.0 0.10 1.4

3.1 0.11 1.5 0.015

3.2 0.125 1.6

3.3 0.14 1.7 0.02

3.4 0.15 1.8

3.5 0.16 1.9 0.03

3.6 0.17 2.0 0.035

3.7 0.18

3.8 0.20

Single cuts larger than 0.04 carat are rare.




———— WEIGHT ESTIMATION FORMULAS

« For mounted stones only
* Use weight corrections (page 38) as necessary.

¢ Never estimate the weight of a loose stone.

ROUND BRILLIANT

Estimated Weight = average diameter? x depth x 0.006]1 x weight correction

OVAL BRILLIANT

Estimated Weight = average diameter? x depth x 0.0062 x weight correction




HEART-SHAPE BRILLIANT

Estimated Weight = length x width x depth x 0.0059 x weight correction

TRIANGULAR BRILLIANT

Estimated Weight = length x width x depth x 0.0057 x weight correction

Estimated Weight = length x width x depth x 0.00815

—

Estimated Weight = length x width x depth x 0.00915
(Width = the average of the two parallel edges) le—s]




FANCY SHAPE WEIGHT CORRECTION (FSWC)

Rounds do not need weight corrections for girdle outline variations, but with fancy
shapes you may need to account for the weight represented by:

¢ high square shoulders on pear shapes
¢ squarish corners on ovals
¢ fat wings on pears, hearts, and marquises

e pavilion bulge on emerald cuts
WHEN DEPTH MUST BE ESTIMATED. . .

1. Add: Crown height % (see chart, page 40)
_+_

Girdle thickness % (see chart, page 41)
+

Pavilion depth % (estimated visually)

The sum of these equals estimated total depth percentage.

2. Depth in millimeters = Average diameter x estimated total depth percentage.

Example
65%
A 300 N = lo1%
Average +
girdle = 6.02 mm = 3.0% (Medium)
diameter +
= 42.5%
55.6%
Estimated depth = 6.02 x 0.556 = 3.347, rounded to 3.35 mm




CROWN HEIGHT PERCENTAGE CHART

The following chart lists the crown heights produced by various table sizes and crown
angles. The crown height is expressed as a percentage of the average girdle diameter.

34 1/2° 25° 30° 32° 38°
Crown Angle Crown Angle Crown Angle Crown Angle Crown Angle
Table Crown Table Crown Table Crown Table Crown Table Crown

%  Ht.% %  Ht. % %  Ht. % %  Ht % %  Ht. %
52 16.5 52 11.2 52 13.9 52 15.0 52 18.8
53 16.2 53 11.0 53 13.6 53 14.7 53 18.4
54 15.8 54 10.7 54 13.3 54 14.4 54 18.0
85 15.5 55 10.5 55 13.0 55 14.1 55 17.6
56 15.1 56 103 56 12.7 56  13.7 56 17.2
57 14.8 57 10.0 57 12.4 57 13.4 57 16.8
58 14.4 58 9.8 58 12.1 58 13.1 58 16.4
89 14.1 59 9.6 59 11.8 59 12.8 59 16.0
60 13.7 60 9.3 60 11.5 60 12.5 60 15.6
61 13.4 61 9.1 61 11.3 61 12.2 61 15.2
62 13.1 62 8.9 62 11.0 62 11.9 62 14.8
63 12.7 63 8.6 63 10.7 63 11.6 63 14.5
64 12.4 64 8.4 64 10.4 64 11.2 64 14.1
65 12.0 65 8.2 65 10.1 65 10.9 65 13.7
66 11.7 66 7.9 66 9.8 66 10.6 66 13.3
67 11.3 67 1.7 67 9.5 67 10.3 67 12.9
68 11.0 68 15 68 9.2 68  10.0 68 125
69 10.7 69 1.2 69 8.9 69 9.7 69 12.1
70 10.3 70 7.0 70 8.7 70 9.4 70 11.7
71 10.0 71 6.8 71 8.4 71 9.1 71 11.3
72 9.6 72 6.5 72 8.1 72 8.7 72 10.9
73 9.3 73 6.3 13 7.8 73 8.4 73 10.5
74 8.9 74 6.1 74 1.5 74 8.1 74 10.2

15 8.6 75 5.8 75 1.2 75 7.8 15 9.8




WEIGHT ADJUSTMENT PERCENTAGE CHART

(For estimating weight only—all shapes)

Use these percentages in the weight estimation formula only when the overall girdle thickness is
slightly thick or thicker. These figures account for the extra weight tied up in a thicker than me-
dium girdle, and are not percentages of the average girdle diameter. You can think of them as
“fudge factors” that allow you to refine your estimate. For smaller stones, use the values given
for 3.80 mm; for larger stones, use the values for 8.25 mm.

D:a S{;gi:!!_‘.' Thick Very Extremely Dia Shghtly Thick Very Extremely
mete? Thick Thick Thick meter Thick Thick Thick
3.80 3% 4% 9% 12% 6.05 2% 3% 6% 8%
3.85 3% 4% 9% 12% 6.10 2% 3% 6% 8%
3.90 3% 4% 9% 12% 6.15 2% 3% 6% 8%
3.95 3% 4% 9% 12% 6.20 2% 3% 6% 8%
4.00 3% 4% 9% 12% 6.25 2% 3% 6% 8%
4.05 3% 4% 9% 12% 6.30 2% 3% 6% 8%
4.10 3% 4% 9% 12% 6.35 2% 3% 6% 8%
4.15 2% 4% 9% 12% 6.40 2% 3% 6% 8%
4.20 2% 4% 8% 11% 6.45 2% 3% 6% 8%
4,25 2% 4% 8% 11% 6.50 2% 3% 6% 8%
4,30 2% 4% 8% 11% 6.55 2% 3% 6% 8%
4.35 2% 4% 8% 11% 6.60 2% 2% 5% 7%
4.40 2% 4% 8% 11% 6.65 2% 2% 5% 7%
4.45 2% 4% 8% 11% 6.70 2% 2% 5% 7%
4.50 2% 4% 8% 11% 6.75 2% 2% 5% 7%
4.55 2% 4% 8% 11% 6.80 2% 2% 5% %
4.60 2% 4% 8% 10% 6.85 2% 2% 5% 7%
4.65 2% 4% 8% 10% 6.90 2% 2% 5% 7%
4.70 2% 3% 8% 10% 6.95 1% 2% 5% 7%
4,75 2% 3% 7% 10% 7.00 1% 2% 5% 1%
4.80 2% 3% 7% 10% 7.05 1% 2% 5% 7%
4.85 2% 3% 7% 10% 7.10 1% 2% 5% 7%
4,90 2% 3% 7% 10% 7.15 1% 2% 5% 7%
4.95 2% 3% % 10% 7.20 1% 2% 5% 7%
5.00 2% 3% 7% 10% 7.25 1% 2% 5% 7%
5.05 2% 3% 1% 10% 7.30 1% 2% 5% 7%
5.10 2% 3% 7% 10% 1.35 1% 2% 5% 7%
5.1 2% 3% 7% 9% 7.40 1% 2% 5% 7%
5.20 2% 3% 7% 9% 7.45 1% 2% 5% 7%
5.25 2% 3% 7% 9% 7.50 1% 2% 5% 7%
5.30 2% 3% 7% 9% 7.55 1% 2% 5% 7%
5.35 2% 3% 7% 9% 7.60 1% 2% 5% 1%
5.40 2% 3% 7% 9% 7.65 1% 2% 5% 7%
5.45 2% 3% 7% 9% 7.70 1% 2% 5% 6%
5.50 2% 3% 7% 9% 1.75 1% 2% 5% 6%
5.55 2% 3% 6% 9% 7.80 1% 2% 5% 6%
5.60 2% 3% 6% 9% 7.85 1% 2% 5% 6%
5.65 2% 3% 6% 9% 7.90 1% 2% 5% 6%
5.70 2% 3% 6% 9% 7.95 1% 2% 5% 6%
5.75 2% 3% 6% 9% 8.00 1% 2% 5% 6%
5.80 2% 3% 6% 8% 8.05 1% 2% 5% 6%
5.85 2% 3% 6% 8% 8.10 1% 2% 5% 6%
5.90 2% 3% 6% 8% 8.15 1% 2% 4% 6%
5.95 2% 3% 6% 8% 8.20 1% 2% 4% 6%
6.00 2% 3% 6% 8% 8.25 1% 2% 4% 6%

NOTE: On fancy shapes use width measurement.




[lepeorpaHka

Beicokasa kopoHa/rny6okuin naBunboH

[dnameTp nepeorpaHkm = HaMMEHbLLNNA
aAnameTp KamHs;

[MyBuHa KaMH$ nepeorpaku =
HauMeHbLUNN anameTp X 62,2%;

Pac4yeTHbI BEC KaMHS nocre
nepeorpaHkm = HaMMeHbLLINW anameTp B
KBagparte X pac4eTHYO rMyoOnHy X
0,0061

Hwnskas kopoHa/Hernybokuin naBunbLOH
[MyBuHa pac4yeTHOro KaMmHa = rnybuHe
KaMHS;

Bibepute obLuyto rnyOnHy pacyeTHoro
KaMH4:

1) Bnbibepute pasmep Tabnuubl 1 yron
KOpoOHbI (40)

2) BblbepunTe TOHKUK 1 cpegHnn
pyHOuCT (41)

RECUTTING

HIGH CROWN/DEEP PAVILION

Procedures:

* Recut diameter = present narrowest
diameter

* Recut depth = smallest diameter x 62.2%

* Recut weight = recut diameter? x recut
depth x 0.0061

SHALLOW CROWN/SHALLOW PAVILION —
Procedures:

* Present depth = recut depth

e Select recut total depth percentage:

1) Choose a table size and crown angle
(Look up crown height percentage
on chart, page 40).

2) Choose a thin-medium girdle thickness
(Look up girdle thickness percentage
on chart, page 41).




3) Bbibepute rmyouny

naBusiboHa B %.

4) Nobasbte 3% n nonyyuTte
obuyto rnybuHy B %.
[lmameTp pacyeTHOro KamMmHsa =
[My6uHa kaMHs1 B%/0buyto
rmyobuHy pac4yeTHOro kKaMmHsa %
Bec pacyeTHoro kamHs =
pacyeTHbIN AnamMeTp B
KBagpaTe X pac4eTHYHO
rnyouny x 0,0061.

Bbicokasi kopoHa/Hernybokmin
NaBUNbOH

3) Choose a pavilion depth percentage.

4) Add the three percentages to find the
recut total depth percentage.

* Recut diameter =
present depth
recut total depth %

* Recut weight = estimated recut diameter?

x recut depth x 0.0061

HIGH CROWN/SHALLOW PAVILION
Procedures:

Use the ProportionScope to find the esti-
mated recut diameter according to the fol-
lowing procedure:

* Rotate stone in the C-clamp stoneholder
until you locate the narrowest diameter.

* Adjust the focus and size knobs until the
American ‘‘ideal” outline on the screen
just fits into the shadow image of the
stone. (Reposition the screen if nec-
essary.)

* Read the excess girdle scale on each
side of the screen and average the two
readings.

* Estimated recut diameter =

narrowest present diameter
average excess girdle scale reading

* Estimated recut depth = estimated recut
diameter x 62.2%

* Estimated recut weight = estimated recut

diameter? x estimated recut depth x 0.0061



